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IMPORTANT QUESTIONS 2019
SUBJECT: ENGLISH CLASS: X
Section A (Compulsory)

Q1: MCQs
1. Insert a suitable article

There is beach near Karachi.

* the *a *an * none of these
2. Choose an appropriate preposition

| agree his proposal.

* with * by *to * for
3. Select the correct passive form.

She cooked food for her family in the evening.

* Food was cooked for her family by her in the evening.
* Food is cooked for her family by her in the evening.

* Food was cooked for her family in the evening.

* In the evening, the food cooked by her for her family.

4. Select the correct active form.

By whom was the cupboard opened?

* Who opens the cupboard? * Who opened the cupboard?

* Who has opened the cupboard? * Who was opened the cupboard?
5. Choose the indirect narration.

He said, “Let us go to the fair.”
* He said that they should go to the fair. * He proposed to go the fair.

* He ordered to go to the fair. * He asked to go to the fair.
6. Choose the correct direct speech.

He says that he wants to speak me.

* He said, “l want to speak to you.” * He says, “l want to speak to you.”

* He said, “He wants to speak to me.” * He says, “l wanted to speak to you.”
7. Choose the correct word.

From cocoa powder we make

* coffee * chocolate * tea * juice
8. Choose the correct answer.

Little of sand make a pleasant land.

* particles * pieces * parts * gains
9. Choose the correct negative sentence.

He drinks tea very often.

* He does not drinks tea very often. * He did not drink tea very often.

* He do not drink tea very often. * He does not drink tea very often.
10. Select the correct interrogative form.

You were driving too fast.

* Did you driving too fast? * Haven’t you driving too fast?

* You were driving too fast, weren’t you? * Were you driving too fast?
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11.

12.

13.

14.

15.

Q2:

Q3:

Choose the correct question tag.

Rehan ate his lunch, ?

* doesn’t he * didn’t Rehan * didn’t he * don’t he
Select the correct affirmative form.

I did not meet him the same day.

*  meet him the same day. * | meted him the same day.
* | do met him the same day. * | met him the same day.
Select the antonym of: Agree

* differ * active * stop * same

Select the correct part of speech.
He is a good boy. In this sentences “good” is

* verb * adverb * adjective * noun
Select the correct past participle form of the verb “Break”
* broke * breaked * broken * breaking

Section “B” (Short Answer Questions)

(a) Answer any four of the following questions in three to four sentences each. 08
How did the Caliph find out the real owner of the horse? OR
Why was Haroon-or-Rasheed famous for? OR

How is cultivation done at the Model Farm?
What are the dangers of marine fishing?  OR What are two modes of fishing? OR

What does ‘Akhund’ mean & qualities of teacher? OR

Different entertainments in the village fair?

How did the Muslims feel over King Faisal’s death? OR

What are the feelings of King Faisal about Pakistan?

Give one example shared by Mr. Inayat with Akhtar regarding the dignity of work. OR
What were the teachers & the H.M doing at the school and why? OR

Why was Akhtar angry?

What does everyone do in China in a year? OR

What are the basic skills to make a good summary.

What are the famous crafts of Sindh & Saints of Sindh? OR Historical importance of KHybar Pass?
Why is the Punjab called ‘The seat of the Learning’

(b) Answer any Two of the following questions in three to four sentences each. 04
What makes a nation great and strong? OR Why did the Poet Climb the steeple? OR

What are the characteristics of a person who make a nation great & strong?

Why does the poet give the credit for all great achievements of people to their mothers? OR
Do you agree with the message of the poem “The Man Who Wins”? OR

What type of Man can’t win? OR

What lesson did King get from the spider?

The message in the poem “Casabianca” OR

What lesson do you learn from the poem “Casabianca”? OR
Why did the Minstrel boy destroy his lamp?

Read the following paragraph carefully then answer the question given below. 06
“I pulled the reins of my horse. He begged me to give him a ride up to the city gate. | felt sorry for
him. so, | pulled him up behind me on the horse.”

i) Name the lesson and the speaker.

ii) Who begged for a ride & who gave the ride?

iii) Where were these words spoken & who brought the dispute of the horse?
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Read the following stanza carefully, then answer the questions given below. 06
“Bravo! Bravo!” The king cried out

“All honour to those who try!”

The spider up there defied despair,

He conquered, and why should not 1?”

i) Name the poem and the poet / poetess.

ii) Which insect gave courage to the King & where?

iii) Why did the King cry out with joy?

Fill in the blanks with suitable words. (any six) 06
The beggar was a and a wicked man.

King Faisal was killed by his own wicked .

God declare that he among the people.

King Bruce was the King of ,

Azam & Moazzam inherited a cow, a date-palm tree and a .
Khyber Pass is a narrow mountain valley about kilometers long.
The famous Mela Chiraghan is held in every year.

Most in Sindh, as in the Punjab are of religious nature.

The first Islamic Summit conference was held in (City).

Most of the Nigerian inhabitants are .

Use any six of the following idioms in sentences of your own. 06
i) By fits and starts, to have the lion’s share,

ii) to nip in the bud, to end in snoke,

iii) with flying colours, to wind up,

iv) to take to take, to turn over a new leaf,

v) a black sheep, to kick up a row

Section C (Descriptive Answered Questions)

Write an essay of 120-150 words on any one of the following topics. 08
i) The value of discipline ii) A visit to the hilly area
iii) Prize Distribution Ceremony at the School iv) Election 2018
v) An exciting cricket match vi) Use & Abuse of Mobile
Write an application to the H.M of your school, requesting him / her to allow you to participate in
speech competition. OR To issue your character certificate.

OR
Write a letter to editor of a newspaper regarding shortage of water supply in your locality.

OR
Traffic problem of Karachi.

OR
Write a dialogue (of 12 sentences) between father & son regarding the abuse of internet &
mobile phones.
Translate any five of the following sentences into English.
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Qlo:

Q3:
ii)

i)

v)

Q4:

i)

i)

iv)

Qeé6:

Q9:

Read the following passage & answer the question given below. 05
Another thing that is essential for good health is rest. When food is burnt in the cells fo the body at
a high rate, the blood cannot carry away the waste materials as fast as they are formed. They,
therefore, accumulate in the cells and prevent them from working properly, and causes Fatigue.
Fatigue makes people ill tempered, slows up their thinking power and causes them to make
mistakes & lowers their resistance to disease. Sitting or lying down quietly is a good way of resting
and so is working at some hobby that does not requires much physical energy but nothing can take
the place of sleep.

Questions

1. What is the cause of Fatigue?
2. What is the best form of rest for a man?
3. Why can’t the blood carry away to waste materials as fast as they are formed?
4. Write noun form of ‘Prevent’ & ‘High’

OR
Write a short note on any one of the following.
i) The uses of adversity ii) Casabianca iii) Khyber Pass
iv) The embroidery of Sindh v) Dignity of Work  vi) A Visit

Important Paragraphs (From Chapters)

“This is wonderful. But, surely machines do not make the grains.”

“Then we should treat them as we treat ourselves & should always be ready to do ourselves what
we ask them to do for us.”

“l don’t like cruel game. Let’s go somewhere else.”

“Polythene bags block the sewerage pipes. When the drains are chocked the dirty water spills all
over.”

Important Stanzas (from Poems)

“And here is a mill & there is a river;

Each glimpse & Gone forever!”

“Brave men who work while others sleep,
Who dare while other fly.”

“Teach it in accents soft & mild,

It may not long remain.”

“All true trophies of the ages,

Are from mother’s love impearled”

Important Idioms / Proverbs for Sentences
A wild goose chase, in black & white, to turn a deaf carts, to beat about the bush, to save
something for the rainy day, High time, All at once, A wild goose chase, Odds & ends, Make fun of

Important Translations
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IMPORTANT QUESTIONS 2019

SUBJECT: MATHEMATICS

Q1.

vi.

vii.

viii.

Xi.

Xii.

xiii.

SECTION ‘A’ {(Compulsory) {MCQs — Multiple Choice Questions): (20 Marks)

Choose the correct answer from the given options.
If logg19 = x then x =

a. 2 b. 1/2 c. 3

cot60° =
1

a. 3 b. V3 c. 7
(VZ+VT)2NZ-VT)=_

a. 22 b. V7 c. 4
The median of 2,4,6,8,10,12 is

a. 7 b. 6 c. 8
Cosec 8tan @ =

a. sind b. secd c. cosd
ay=_.

a. U-A b. A-U c. A

x* + 64 can be made a perfect square by adding

a. 16 b. 8x2 c. 16x2
If A = {a,b,,c,d} than P(A) has element.
a. 8 b. 16 c. 4

The L.C.M of 4x2 and 5x is :
a. 4x? b. 5x c. 20x?

The additive inverse ofa—b is
a. atb b. —a-b c. —a+b

The reciprocal of cosec 8 is
a. cos@ b. sin 8 c. cot@

The meanof-2,-1,0,1,2 is :
a. -1 b. O c. 1

The point (0,2) lies infon
a. 1% quadrant b. 39 quadrant c. X —axis

;)

. 10

. cot@

. AB

. 4x?

. 10

d. 20x3

. ab

d. tan@

. 05

. Y-axis

CLASS: X
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Xiv.

XV.

Xvi.

Xvii.

xviii.

XiX.

NOTE:

Q.2:

Q.3:

Q.4:

(53)2 = (52)3=
a. 5 b. 25 c. 1 d. 5%

The solution set ¢f §x = —2 is
a. 2 b. -2 c. @ d. 4

Ifx=1andy =1,thenvalueofx —y + xy =
a. 2 b. 1 c. 10 d. 0

Eliminate ‘b’ from a+3b=-1 and a+b=3, the new relation =
a. a=2 b. a=-7 c.a=>5 d a=4

The additive inverse of [_35 -;2]=

a | % % b [g 3] o5 2 NE

o

In a right — angled the side opposite the right angle is
a. Diagonal b. Median ¢. Hypotenuse d. Base

fx+5:x+7=>5:7thenx =
a. 0 b. 1 c. -1 d 2

Section “B” (Short Answer Questions)

Attempt any 10 questions. All questions carry equal marks.
If U={1,2,3,4,5,6,7,8,9,10}, A = {2,4,6,8,10}

B = {3,6,9,10} Prove that

(i) (AuB) =A'nB’ (i) (AnB) =A"UB’
i) An(BNC)=@NB)NC (iv) AAB= (AUB) — (ANB)
Simplify:

() (x_l)l+m N (ﬂ)m+n y (ﬂ)‘n&l (")4 a_" . 7 ﬂ b, 4 a_" ) 2721/3 xg—1/3
. xm xn x! P a¥ ar a* - 18-1/2

(i) If P = 3 + 22, find the value of P2 + piz

(ii) If a+b=5 and a-b=3, find the value of a? + b? & 4ab

(iii) Find the value of x? + y2 + z2when x+y+z=\7 and xy+yz+xz=2

(iv)  Find the value a® + b3 + ¢ — 3abc = 15 and ab + bc + ac = 74

(v) Find the value of a® + b’whena + b = 5;ab = 3
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Q.5a): With the help of log table find the value of.

Q5b)

Q.6:

Q.7:

Q.8:

Q.9:

Q.10:

(6.735)(48.27) (85.7)(2.47) ... V2735 X (1.27)2
(i) (16.18)2 (ii) 8.89 (iii) 13672

(i) If a/b = c/d = e/f prove that (a? + c? + €?)(b? + d? + f?) = (ab + cd + ef)?

. 3 3 3 (x+y+2)3
(ii) x/a = y/b = z/c prove that * /az +7 /bz +Z /CZ = breT
(iii) b;:c_=ﬁ=acjprovethata=b=c;a+b+c¢0

Resolve into factors:
(i) x2(y — 2) + y*(z — x) + z%(x — y) ora®(b — ¢) + b?*(c — a) + c*(a — b)

(i) r2(—0)+si(t—-r)+ti(r—ys)

Find solution set by using Quadratic formula.

(i) x2+8x+15=0 (i) 2x2+7x+6=0 iii)3x®=7x+5=0

(i) For what value of ‘g’ 4x* + 12x® + 25x2 + 24x + q is perfect square?

(ii) What should be subtracted to x* + 4x> + 10x2 + 14x + 5 to make it a perfect square?

(i)  For whatvalue of aand b, x* + 4x® + 10x? + ax + b is a perfect square.

(i) IfA = [3 ;], prove that AA~1 = |

(ii) By using Cramer’s rule solve the equations.
2x +3y =-3 OR 2x —y=-2 OR 4x+y2 =2
4x+3y =5 x+2y=3 7x+2y =3

Find the relation independent of x’ from the following

. 1_ 3,1 _ ;3 d _2 _d
(i) x+-=2a, X+ b (ii) y=3% t X

(i) x+-=2P, x—i=2q+1

x
(iv) Find the relation independent of t from the following equation

1-t2
2t

1+t

x
p 2t

_a(1-t?)  b(1-t?)
o142 0T 22

(v)
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Q.11: If two angles of a triangle are congruent, the sides opposite to them are also congruent, Prove it
OR

Prove that the two chords of a circle which are equidistant from the centre are congruent. Prove
that

Q.12: The sum of the measures of the angles of triangle is 180°.
OR
The two tangents drawn to a circle from a point outside the circle are congruent.

Q.13: If a transversal intersects two coplanar lines, Such that the pair of alternate angles are congruent,
prove that the lines are parallel

OR

The measure of central angle of minor arc of a circle is double that of the inscribed angle of the
corresponding major arc, Prove it.

Q.14: Prove that:

sinf  1+cosé

. . 20
(i) Sin“8 + Cos“8 =1 (iii) e = B

(ii) 1-25in%0 = 2 Cos?60 —1  (iv)  tanB+cotf=Cotf Sec?d

Q.15: Find the solution set of the equation

(i)

|21+1

=1 ) J2By-6=4/y+3 (i) 3x—4|+4=22

Q.16: Find the values of the trigonometric ratios of an angle of 30° ; 60° OR

Derive tan28+1 = Sec?f

Section “C” (Detailed Answer Questions

Q.17: Factorize the following.

(i) a* + 4b* (i)  3x2+12x+9
(iii) a® —8b3 + 27¢* + 18abc (iv) at+a*+1
iv) a®—da?+2 (vi) x®+ 64y°

(vii} ab + amx — bx — mx? (vii) x*—11x%2+1
(ix) x%+15x+36 (x) (x — y)® — 6423

(ki) x*—x—2y+8y3
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Q.18: Find the solution set of the following equation graphically.

. 4x —y—-10=0 . x+2y =-3

(i 3x+5y—-9=0 (i) 2x +y =14
Q.19i) In any correspondence of two triangles, if one sides and any two angles of one triangle are
congruent to the corresponding side and two angles of the other the two triangles are congruent. Prove it.

ii) In a corresponding of triangle if three sides of one triangle are congruent to the corresponding
three sides of the other, the two triangles are congruent. Prove it.

Q.20a) The marks obtained by some students in a chemistry examination are given below. Find mean

median and mode of their marks.

Marks 25-29 30-34 35-39 40-44 45-49

Students 9 18 35 17 5

(b) Find variance and standard deviation.

(i) 23, 15, 35, 48, 41,5, 8,9,11, 51

(ii) 35, 32,31, 34,38,33

(c) Find the factors by means of reminder theorem.

(i) x3—4x? +5x -2 (i) x®—11x% +36x—36

Q.21i) Draw the transverse common tangents of the two circles with the radii 3cm and 2cm, when the
distance between their centres is 6cm. Write down the steps of construction.

ii) Draw a triangle ABC such that m AB = 4.3cm, m AC = 5.2cm and m BC = 6cm. Draw its
circumscribed circle. Write also the steps of construction.

iii) Draw the direct common tangents of the two circles with the radii 3cm and 2cm, when the distance

between their centres is 6cm. Write down the steps of construction.
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IMPORTANT QUESTIONS 2019

Paper: Physics Class: X
SECTION ‘A’ (Compulsory) (MCQs — Multiple Choice Questions):
Q1. Choose the correct answer from the given options.

(i) Ibn-ul-Haithem was born in 965 A.D in :

a) Basra b) Pakistan c) ltaly d) Asfahan
(ii) The refractive index of Air is :
a) 1.023 b) 1.30 c) 1.000 d) 1.52
(iii) The audible frequency range is:
a) 20 HZ to 20 KHZ b) 20HZ to 25 KHZ c) 20 HZ to 30 HZ d) 20HZ to 2000 KHZ
(iv) Which of the following is a derived unit ?
a) mol b) Cubic meter c) Ampere d) Kelvin
(v) The heat energy involved in the change of state is called
a) Specific heat b) Evaporation c) Thermal conductivity d) Letent

(vi) The silicon crystal doped with pentavalent element is called.
a) n-type substance b) p-type substance c) Insulator d) Conductor

(vii)  Short sightedness is removed by using

a) Convex lens b) concave lens c) plane mirror d) none of them
(viii) One hours power = watt

a) 900 watt b) 746 watt c) 760 watt d) 950 watt
(ix) The current obtained from a battery is always

a)A.C b) D.C c)P.D d) P.N
(x) For a force F1, Fx= 6N and Fy = 6N , what is the angle between F and the x-axis

a) Less then 45° b) 45° c) 60° d) Greater 60°
(xi) The value of radius of earth is:

a)6.4x10%m b)6.4x10°m €)6.67x10!m d)6x10%m
(xii)  Which of the following correct for power

a)P=q/p b)P=F.V c)P=F.1/v d) None of them
(xiii) The unit of young’s Modulus is :

a)N/m b) m c) N/m? d) Nm?
(xiv) Ininclined plane, that the smaller the value of angle 0 will be the M.A

a) Greater b) Smaller c) Same d) None of them

(xv)  The image formed in the human eye is real, inverted and
a) diminish b) magnified c) same size d) none
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(xvi)

(xvii)

(xviii)

(xix)

(xx)

(xxi)

(xxii)

(xxiii)

(xxiv)

(xv)

(>oxvi)

(>xvii)

Q3.
Q4.

Q5.
Q6.

Q7.
Q8.

Qs.
Q10.

When the object is at a distance from convex mirror the image is formed at
a) principle focus b) pole c) beyond 2F d) centre of curvature

Dr. Abdus Salam was awarded the Noble Prize for his work on

a) lever b) light c) GUT d) nuclear reactor
Holes are the charged carriers on the type of material.
a) doping b) semi-conductor c¢) n-type d) p-type

Matter, in whatever state it may be is made of tiny particle called

a) Cell b) Atom c) smallest particle d) molecules

A car accelerates uniformly from 5m/s to 13m/s in 4.0sec.What is acceleration of the car of the car
in m/s2

a) 0.5m/s? b) 1.25m/s? c) 0.80m/s? d) 2.00m/s?

The instrument used for measuring the unknown pressure with respect to atmospheric pressure is
called

a) Barometer b) Manometer c) Pascal d) Oil transmits pressure
One micro second is equal to second.
a) 10° b) 10° c) 10 d) 10°

By increasing the length of a conductor its resistance is
a) increased b) decreased c) remains the same d) none

The emission of invisible radiations from uranium is called

a) nuclear fission b) radioactivity c) fusion reaction d) none
A machine helps us to lift much heavier by comparatively smaller force.
a) Input b) weight c) output d) none

The attractive force between any two bodies of universe is:
a) Weight b) force of gravity c) gravitation d) pressure.
Work is done when a body is moved through a distance by a

a) Fulcrum b) inclined plane c) MA. d) Force.

Section ‘B’ (Short-Answer Questions)
PART - A

Define the following :-
Co-efficient of frictionii. Regelation iii. Centripetal force
A car is moving on a straight road at 5m/s . It is accelerated at 3m/s. Calculate its velocity after 4
seconds.
Identify the following as fundamental and derived units and name their physical quantities.
i. Meter(m) ii. Kilogram (kg) iii. Newton (N)iv. Ampere (A) v. Pascal (Nm°) vi. Kelvin (K)
What is capacitor ? Write the factors on which its capacity depends.
Write down three difference between (any one).
i. K.Eand P.E ii. Heat and temperature
Write down any three uses of Radar / ultra-sonic.
Define the following any three.
i. Short sightedness ii. Critical Angle iii. Farad iv. Magnetic field v. Long sightedness
Draw the ray diagram of the image formed by a plane mirror and write its characteristics.
Define rectification and draw half wave rectification.
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Q11. Write down the two characteristics of three resistances connected in parallel.
Q12. Write any three contributions of Muhammad-Bin-Musa-Khwarzmi / Al-Beruni in the field of

physics.

Q13. State the principle on which a Hydrolic Breaks work.

Ql4. Write any three uses of isotopes in teh field of Medicine OR explain chain reaction in s2U%3,

Q15. Find the length of seconds pendulum for which T= 2 seconds.

Q16. State i) The Quantum theory of light ii) Newton’s Corpuscular theory iii) Wave theory of light
Q17. Define Energy and show that W = Fcos0.S.

Q18. Explain the graphical method of addition of vector.

Q19. Write down three properties of i) Alpha Rays ii) Beta Rays iii) Gamma rays

Q20. Explain Hook’s law applied to Helical spring.

Q21. What is transistor? Draw the sybolic diagram of two types of transistors.

10.

11.

12.

13.
14,

15.

16.

17.

18.

NUMERICALS

If 117.6 Joules of heat are required to raise the temperature of 10gm of sliver through 50°C. Calculate
the specific heat of silver.

Find the potential between two ends of a conductor if it offers a resistance of 5 ohms when a current
of 5 ampere passess through it.

The focal length of concave mirror is 10cm. Where an object should be placed as to get its real
image magpnified twice.

A 12 microfarad parallel plate capacitor is changed till the potential difference between its plates is 250
volts . Find the energy stored in it.

The focal length of a convex lens is 20cm. Where an object should be placed to get its real image
magnified four times.

A force of 60N acts on a body at an angle of 60° with the horizontal. Find its horizontal and vertical
components.

A train is moving with a velocity of 72 km/hr. By applying the brakes a retardation of 0.5 m/s? is
produced. Find the time it will take to stop.

A 600 gm iron piece at 100 % is dropped into 200gm of water at 20 °%. The temperature of the mixture
is 41°. Find the specific heat of iron.

300 waves pass through a point in 3 seconds. If the velocity of the wave is 330 m/sec. find the wave
length of the wave.

An objects is placed at a distance of 8cm from the pole of a concave mirror of focal length 12cm. Find
the position and nature of the image.

To resistances of 8 ohms and 12ohms. are connected in parallel to battery of 6 volts. Calculate the
current flowing through each resistor.

Calculate the tension in a string 50cm long when it is tied to a mass of 200gm and whirled in a circle
with a speed of 10 ms™!

Find the length of a second’s pendulum.

The focal length of a concave mirror is 10cm. At what distance should an object be placed in front of
the mirror to produce a real image magnified twice.

An electric lamp is marked 12v and 24w. How many joules do consume in one hour and what is the
current passing through lamp.

A force of 100N is acting on a body at an angle of 60° with horizontal. Find the work done if the body
comes a distance of 2m.

Calculate the amount of heat required to heat 500gm of water from 20 % to 80 °c. ( The specific heat
of iron is 500 J/kg %)

A 100 watt bulb is operating in a 220v circuit. Calculate the current flowing through the bulb and find
its resistance.
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19.

20.

21.

22,

23,

24,

25.

26.

27.

28.
29,

30.

31.

32.

33

34,
35.

36.
37.
38.
39.
40.
41.
42,
43,
44,
45,
46.
47.
48,

49,

An object is placed in front of a concave mirror at a distance of 30cm. If the radius of curvature of the
mirror is 20cm . Find the position and nature of the image.

An electric heater has a resistance of 20 ohms and it works when a potential difference of 220 volts is
applied across its terminals . Find the current passing through the heater and its power rating.

At 16% the length of an iron rod is 51cm. How long is it at 99% if the coefficient of linear expansion a
=12x10759¢1

Find the resistance of a conductor if a current of 25 milli amperes is drawn from a 120 volt supply.

Find the focal length of a convex lens when p=5cm, g= 10cm and the image is virtual.

A force of 588 N acts on a box to push it to a distance of 4m in 40 seconds. Calculate the power.

A car is moving on a straight road at 5m/s. it is accelerated at 3m/s2. What will be its velocity after 4
seconds?

The focal length of a convex lens is 50cm. An object is placed at a distance of 25cm from the lens.
Determine the position and nature of the image.

If 117.60 joules of heat one required to raise the temperature of 0.01 kg of silver through 50%.
Calculate the specific heat of silver.

Half life of radon is 382 days. How much of a 100 gm sample of radon would be left after 746 days?

A sound wave of frequency 400Hz and wave length 3m passes through a certain medium, calculate the
velocity of the wave in the medium.

n electric bulb with a current of 0.06 A is left lighted for 15 minutes. How much electric charge passes
through the filament of the bulb?

The radius of curvature of a concave mirror is 40cm. Where should an object be placed so as to get its
real image magnified four times?

A force of 20 N is applied at the edge of a wheel of radius 40cm. Find the torque acting on the wheel.

. A force of 10N is required to move one part of a machine over another. If the weight of the upper part

is 50N. Find the coefficient of friction between the two parts.

A body is projected upward with a velocity of 30 ms™. How high would it rise?

A motor cyclist is travelling along a circular path of radius 30m at speed of 5ms™™. If the total mass of
the motorcycle and the rider is 360kg. Find the magnitude of the centripetal force acting on him.

Find the potential difference between two ends of a conductor if it offers a resistance of 5 ohms when
a current of 5 amperes passes through it.

An object of mass 100kg is raised 2m above the ground using an inclined plane of length 10m.Calculate
the effort applied parallel to the inclined plane.

An aeroplane flying at a velocity of 600 km/hr dives making a angle of 30° with the vertical direction.
Find the velocity of its shadow on the ground if the Sun is vertically above the plane. (Sin 30°=0.5)
The coefficient of linear thermal expansion of aluminum is 26 x 1078 %1, An aluminum rod is 2m long
at 25 %. What will be its length at 75 °%c?

Calculate the kinetic energy of an object of mass 4kg moving with a velocity of 10m/s.

An object of mass 20kg is moving with an acceleration of 3m/s?. Find the force acting on it.

A sitar string vibrates at 400Hz. What is the time period of the vibration?

A body weighing 25N is placed on a wooden plank. How much force is required to set it in motion if the
coefficient of friction between the plank and the body is 0.47?

How much energy is released due to conversion of 107 kg of mass into energy when the speed of light
is 3 x 10% m/sec.

A ball is dropped down from a height of 176.4 m. How much time will it take to reach the ground?
What is the mass of an object whose weight is 294N at the surface of the earth?

A bullet of mass 0.1kg is fixed with a velocity of 60 m/sec. Calculate the momentum of the bullet.

A roller tied to a string is dragged on a floor making an angle of 60° with the floor. If the tension in the
string is 20 N. Find the force by which the roller is dragged. ( Cos 60°=0.5 , Sin 60°= 0.866)

A force of 100N rotates a body about its axis. If the arm of force is 2.5 cm. Find the magnitude of the
torque.

Page 13 of 22



50. Find the current passing through the heater which has a resistance of 20 ohms and potential difference
of 220v in supplied to it.

Q1.

Q3.

a)

b)

Section “C” (Detailed Answer Questions)

Derive the equation: 2as = Vf? - Vi? and S=Vit + % at2.

Draw a labelled diagram of refrigerator.

State the following Laws.

i) Law of heat exchange ii) Law of inertia iii) Snell’s law iv) Right hand Rule

v) Coulomb’s law

Derive 1=1+1

fpaq

Explain series and parallel combination of resistance of diagram.

Define simple Harmonic motion and explain it with the help of simple pendulum.
OR

Draw a ray diagram of telescope.

Derive the equation Me = gRe? to

"G

determine the mass of earth, by applying the law of gravitation.

Define evaporation and write down the name of foult factors which can effect the rate of

evaporation.

Define any four:

i) Total internal reflection ii) Joule iii. Resonance iv. Depolarization v. Electric current
OR

Describe sign convention for real and virtual image.
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